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BECE–144 : FINANCIAL ECONOMICS  

Time : 3 Hours  Maximum Marks : 100 

Note : Answer questions from all the Sections as 

directed. 

 

Section—A 

Note : Answer any two questions from this 

Section in about 500 words each.  

2×20=40 

1. What do you mean by financial  

instruments ? Explain the different types of 

financial instruments.   
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2. Explain the Capital Asset Pricing Model 

(CAPM). What are its assumptions ? 

Explain its limitations also.  

3. What do you understand by the term ‘the 

time value of money’ ? How is the concept of 

time value relevant in financial decisions ?   

4. What do you mean by the term  

‘Derivatives’ ? What are the different types 

of derivative markets ?  

Section—B 

Note : Answer any four questions from this 

Section in about 250 words each.  

4×12=48 

5. What are the important features of fixed 

income securities ? Explain in brief.  
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6. What is Debt Securitisation ? Explain the 

risks attached to debt securitization.  

7. What is a venture capital fund ? Discuss  

the main methods of venture capital 

financing. 

8. Define bond yield. Explain the various types 

of yields that are useful in investment 

decisions.   

9. Explain the different types of return 

measures used to evaluate the financial 

assets.    

10. Explain the term ‘Expected Utility’.  

What are its axioms ? How does a  

rational individual maximize his expected 

utility ?  
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Section—C 

Note : Answer both questions from this Section.  

2×6=12 

11. Explain the following concepts :  

(a) Sinking fund 

(b) Investor’s indifference curve 

12. Distinguish between the following : 

(a) Bar graph and Histogram 

(b) Null hypothesis and Alternative 

hypothesis 
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 BECE–144 

ch- ,- (vkWulZ) vFkZ'kkL=  

(ch- ,- bZ- lh- ,p-) 

l=kar ijh{kk  

twu] 2025 

ch-bZ-lh-bZ-&144 % foÙkh; vFkZ'kkL= 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % lHkh Hkkxksa ls funsZ'kkuqlkj iz'uksa ds mÙkj fyf[k,A  

Hkkxµv 

uksV % bl Hkkx ls fdUgha nks iz'uksa ds mÙkj (izR;sd) yxHkx  

500 'kCnksa esa fyf[k,A  2×20=40 

1- foÙkh; miLdjksa ls vkidk D;k vfHkizk; gS \ fofHkék 

izdkj ds foÙkh; miLdjksa dh O;k[;k dhft,A 
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2- i¡wth ifjlaink ewY;fu/kkZj.k izfreku dh O;k[;k  

dhft,A bldh ekU;rk,¡ D;k gSa \ bldh lhek,¡ Hkh 

crkb,A  

3- ^eqnzk ds le;&ewY;* inca/k ls vki D;k le>rs  

gSa \ foÙkh; fu.kZ;ksa esa ;g le;&ewY; fdl izdkj lkFkZd 

gksrk gSa \ 

4- ßO;qRiékksaÞ ls vki D;k le>rs gSa \ fofHkék izdkj ds 

O;qRiék cktkj D;k gksrs gSa \ 

Hkkxµc 

uksV % bl Hkkx ls fdUgha pkj iz'uksa ds mÙkj (izR;sd) yxHkx 

250 'kCnksa eas fyf[k,A  4×12=48 

5- fLFkj vk; izfrHkwfr;ksa (fu{ksiksa) ds egRoiw.kZ vfHky{k.k 

D;k gSa \ la{ksi esa O;k[;k dhft,A 
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6- ½.k fu{ksihdj.k D;k gS \ ½.k fu{ksihdj.k ls tqM+h 

tksf[k+eksa dh O;k[;k dhft,A 

7- m|e iw¡th dks"k D;k gksrk gS \ m|e iw¡th  foÙkh;u dh 

eq[; fof/k;ksa ij ppkZ dhft,A 

8- ckW.M izkfIr dh ifjHkk"kk dhft,A fuos'k fu.kZ;ksa esa  

mi;ksxh fofHkék izkfIr ladYiukvkas dh O;k[;k  

dhft,A 

9- foÙkh; ifjlainkvksa ds ewY;kadu esa iz;qDr fofHkék izfrizkfIr 

ekidksa dh O;k[;k dhft,A 

10- ^izR;kf'kr (visf{kr) mi;ksfxrk* dh O;k[;k dhft,A 

blds lwfDr okD; (ekU;rk,¡) D;k gSa \ ,d rdZ'khy 

O;fDr viuh izR;kf'kr mi;ksfxrk dks vf/kdre fdl 

izdkj djrk gS \ 
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Hkkxµl 

uksV % bl Hkkx ds nksuksa iz'uksa ds mÙkj fyf[k,A  2×6=12 

11- fuEufyf[kr ladYiukvksa dks le>kb, % 

(v) ½.k ifj'kks/ku dks"k 

(c) fuos'kd dk leHkko oØ 

12- fuEufyf[kr esa Hksn Li"V dhft, % 

(v) n.M js[kkfp= vkSj vk;rfp= 

(c) 'kwU;d ifjdYiuk ,oa oSdfYid ifjdYiuk 

× × × × × 

 

 

 

 


